Name:

Ms. Napolitano

i can use the least common multiple to add and
CCSS: 6.NS.4

Use the LCD 1o rewrite the fractions with the same denominator.

1. -3—,}— 2 %jg
410 38
5 51 L 154
14" 6 3769
Copy and complete the statement using <, >, OF =
34,2 6 5 2 A
4 3 12 15
7. 32 2 3L 8. 8 o ol
18 24 8
Add or subtract. Write the answer in simplest form.
9. -1—+i 1C. i—l
2 5 6 4
11. > 3 12 7 + 3
g 14 15 10
13. 4_1, + 3§— 14. 5—7——~ 2%
8 A 12 9
15 T F s 16, 41k -2
3 7 12 20
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ol canuse the leasicommon c‘éemr‘mnamr.to--determ'me anequivaient.

LELE 6.M5.4

1 anat Coymrnon Denominator (L0000
Tind the least cornmon multipte for the foliowing iumbers

i Least Common Mult ple E
2 and 3
3and 4
2,3and 5
3 and 12
6and 8

g and 12
3,4, and 5 %

Buaild Fquivalent Fractions with the LCD

First determine the least commott denominalor (LCD) for the below fractions.
Then build up the fractions SO that they have this LCD.

Fractions {east Common Equivalent Fractions
Pepominator (LCD) with the LCD

i ST

1/3 and 1/2
213 and 3/4
1/5 and 2/7

95 and 16 %
|

213 and 15
3/7 and 2/9
Vo, 113 and 1/4 i
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Name:___ Date:
Ms. Napolitano Unit 2
ﬂomework Day 2
Show all of your work on a separate sheet of paper.
jdentify the terms and like terms in the expression.
4 13x - 278 - 5AF T 3 - 2.10- 3+ 6m’ + L
10 5
simplify the expression.
3. P%b + %b 4. 60m — 15(4 - 8m) + 20
5. 4(5.8 9x) + 82+ 22x 6. Oy — 15y +12- 6y
5 4
7. v+ 13 -8 +2) 8. g(5x+9)+-5-(1~9x)
9. Write an expression in simplest form that represents
the perimeter of the polygon. 12%
9 yd
2X
X 2x
12

Draw a diagram that shows how the expression can represent the area of
a figure. Then simplify the expression.

10. 8(3x - 1) 1., (5+ 2T 3x)

12. Danielleis X years old. Her sister is 5 years older and her prother is half
Danielle’s age. Write an expression in simplest form for the sum of their ages.

13. The length of a rectangular field 1s 30 more than twice it width, Write an
expression in simplest form for the perimeter of the field in terms of its width w.
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. Extra B ctice What is the value of the expresséon‘?
what is the product of (— %) ¥ (-— %—)? 8
- 8 . (-0.35)
15
_L 75
A T12 AT
3 _®
B "8 B "2
3 -2
C 8 S ]
7 14
D 5 D " 75
pvaluate.

t is the value of the expression pelow?

(312 - g%) =+ (~25) ("—i% ¥ 0.15\ = (—-0.125)

A —68
A —25 .

—44
¥ -23 C a4
c23 D 68

225




2.5
What is the value of the BXpression L:'-L ‘5)-?

4

(9]

Q

R 2

1

Amber determined that the expression --_A.ZT_ is equivalent to »;—25- Which

15
lescribes the Process Amper could have used?

statement

\  She divided ‘E}' by ~15 and then diviged the resuit by 41,
She multiplied =4 by =15 and then divided the resys by 41.
She divided -~21 by ~15 and then muitiplied the result by 41,

She multiplieq -—-21- by ~15 and then Muitiplied the result by 41,



HOMEWORK J G&\f{\ N S

% polygon ABCDis shown on the coordinate plane. Sketch
the image after itis rotated 90° clockwise about O and
then dilated with scale factor 2 and center O.

' .T“\ra'ke sure you
ro‘i“a‘i‘e the po‘ygo
.c\ockwi;‘e- '

Zﬂ The coordinates of ADEF are D{—4,4), EQ, 4), and FO, 2).

 Pow d se the
The triangle is dilated with scale factor 32— and center O. ow da you u3€ 7%

s;a-le factorto ﬁh&"
the coordinates of

What are the coordinates of the vertices of the image :
C the ?mage?

of ADEF?

A -2 -20 ~1)
B (88,4804
¢ (2,240,207
D (4 -4),42@20

Sue chose A as the correct answer. How did she get

that answer?
[ ey




& Tl whether each statement is True or Fafse

a.  Adilation image is always
congruent to the onginal
figure, D True D False

b. A rotation image is always
congruent to the original
figure. D True D False

€. Areflection image is never
congruent to the original
figure, D True D False

d. A translation image is always
congruent to the original

figure, D True D False

Polygon (MNP was transformed 1o Polygon wixyy

Part A
Desciibe 3 sequence of transformations that
maps Polygon (Mne to Polygon wixyz

—

Part B

Find the perimeters of Polygon Wxyz ang
Polygon tanp Then write the ratio of the
perimeter of Polygon wixyz to the perimeter of
Polygon tMnp How does this ratio compare to
the scale factor you found in Part A7

What type of _
7 'fransfo._r'maﬁon'c:an
change the size of 5
figure '
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image of quadriiatera\
le factor of 1/3 an

Graph the dilated

d

MNOP using 3 s¢3

ter of dilation.

the origin as the cen

of triangte RST mdthem&mmafn'
2 dilation of wiangle RST-

the coordinates
jRST s

{'ST. Triangle

below shows

The table
in triangle

is the origin

L

The center of dilation

2.

the origin

ditation is

e center of

1. Th

and the scale factor is

le

Use the Tu

factor is 2.

le

and the s¢a

2!




3. The center of dilatjon is point A and
the scale facior js 5"

4. The center ofdilation s point 4 and
the scale factor is 3.

3. Al b, B2, 6), (5, 2) 6. R(-3, -3, (-6, 33, -3, 3)

A![Iql q}r B'(S) 24)! C‘!(qu 8) R'('lp 'st S,('z, J)v T)("]; lJ

Po— “_‘H..kmw—‘—hmmkmmm et e e e s
ROUP WORK

1 the diagram below,
ansformarions thar




